asym_atll

asym_atrl

asym_atl2

asym_atr2

rund962 000 r

—18(

10000 10000
i —{16( i —60L
i —14¢ i
i . —{50c

5000 - 5000
i —12¢ -
| 10( -
= ok
i 80 |
- E,Dl: -

_5000 ~5000 |-

i 400 i
[ = - -

10000 10000 -
_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III D _II|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
~200 =150 =100 =50 © 50 100 150 200 40 =30 -20 -10 0 10 20 30 40

diff_bpmXum diff_bpmdaYium

dlfL d'
= I n I _.1_[:":

20000 - m oo 20000 [~
- —200 [

15000 15000
B —18( - 3oL

10000 | & 10000 |-

B —{14( [ — B0

5000 - 5000 —

- 12( -

ol 100 o
- - 400
i 80C [

-5000 ~5000
i GOL [

- N 200

10000 - 40 10000 [~
B [ . 200 N . [

15[:”:”:'_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III D 15[:”:'0_II|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|II {'
~200 -150 100 -50 © 50 100 150 200 40 -30 -20 10 0 10 20 30 40

difi _bpm1Xum difi_bpmda¥ium
diff_"bpmlX diff_
| — | — —3.|}|:
i 220 i

20000 - oo 20000 - —{701
- m e B —60(

10000 - 11 10000 |- |
[ | —{500
[ —14c .

o - 12( ol
- 100 -

10000 80C 10000
- E.I}[ -

- 400 " n

20000 — 20000 — - 100
! - 200 !

o boror b b b b b b b o b e b b b b b b 0

~300 150 =100 -50 © 50 100 150 200 40 -30 -20 -10 0 10 20 30 40
diff_bpm1Xum diff_bpmdaYium

: — —|30c - BOC

40000 40000
- = -

30000 i 30000

20000 20000

10000 e 10000
= 0
. 15( =

10000 10000

20000 . 100 20000

30000 o000
- 50C -

40000 40000

EDDDD:I|IIII|IIII|IIII|III IIII|IIII|IIII|IIII|III EDDDU:IlllllIIIIIIlIIII|IIII|IIII|IIII|

-200 <150 <100 -50 50 100 150 200

egressionr-asym at vs'

20

~ bpm-

10000 - oy 16L mnnn —
- - —&0e
- —{14r -
5000 —12( 5000 [~ —°0C
. —{100 .
= ok
i BOC i
i B0C i
~5000 ~5000 | 200
- 400 |
i S0t i 10(
10000 10000 |
_IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|I ﬂ _IlllIIIIIIIIIlIIIIlIIII|IIII|IIII|III D
-200 -150 -100 -50 O 50 100 150 200 a0 =20 =10 O 10 20 30
diff_ bpmdeX/um diff_ bpmdeYium
| — — 22 | — 100
20000 - m 20000 [~
B — 200 B
15000 - —1ar 15000 2 o
N —16( [
10000 10000 |
- —1ac -
- - —&0C
- 10 n
or OFm &0
[ BOC i
~5000 - ~5000
- - 200
10000 | 0 10000 |-
- i n 200 - n i
1EDDD_IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|I ﬂ 1EDDD_III|IIIIIIIIIlIIIIlIIII|IIII|IIII|III D
~200 -150 -100 -50 O 50 100 150 200 3 -20 -10 O 10 20 30
diff bpmdeX/um ditf_bpmdeYium
i C —BOC
i —{z00 -
20000 20000
| —{qar N —{ 0L
= . _1'5[ | _EI'D[
10000 10000 |
i —{14r i
| 120 [
ok - ok
i 100 i
| 800 [
10000 10000 - m
. B0C [
i i 200
[~ 4"}': [ .
20000 20000 m 100
i 200 i
b b b b b Lo b L 0 ol b b b be e Lo o
-200 -150 -100 -50 O 50 100 150 200 an 20 -10 O 10 20 30
diff_bpmdaX/um diff_bpmdaYium
diff_ diff_bpmdeY
3 L
40000 - 40000 - 0L
- | —25C -
30000 30000 —|700
20000 :— - —anc 20000 :— —{g0r
10000 10000
.|]:— 15L u:—
10000 10000
- 100 -
20000 F 20000
n n 200
30000 30000
- 30C -
40000 40000 1o
-E'DDD _IIII|IIII Dn:III|IIIIIIIIIlIIIIlIIII|IIII|IIII|III D
~150 -1 200 E

i

L7 "postpan.png—-

5000 —

5000 —

10000 —

1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
100 50 0 50 100
diff_bpm12X/um

°1

20000

15000
- — 701

10000

5000

=5000

10000

|
15nnnIII|IIII|IIII|IIII|IIII|III

=100 -50 1] 50 100
diff_bpm1 2X/um

| — —16I
. W
20000 — —{14C
- . —{12(
10000 —
B —100
D_
10000 —
20000 —
N NS N NN N

100 50 0 50 100
diff_bpm12X/um

d'
40000 - !

0000 —| 18t

20000 o[ 14

10000 =12t

1]

10000

20000

30000

40000

tv v v v by v v by
0000 =100 -50 1] 50 100

diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

10000 — 16
- —{141
000 = —12(
B — 100
ﬂ_
_ W a0l
i B0
5000
i 400
B 200
10000 -
|||||||||||||||||||||||||||||||||||||||||I||| D
=200 =150 =100 =50 (1] 50 100 150 200
diff_bpmXum
difL
B — —{18(
i [ |
| —16(
10000 T m
B —{14¢
5000 —
- —12¢
ok n 100
B - a0l
=5000 ~ GO
i 400
10000
i B 200
.15[:”:”:'_|||||||||||||||||||||||||||||||||||||||||I||| D
200 <150 <100 =50 (1] B0 100 150 200
difi _bpm1Xum
diff
B —
i - -
3000 |- 160
4000 — W n —12¢
2000 - —10(
iy 80(
=2000 :— - 0
4000 [
B 400
6000 |
B 200
8000 |- [l
FIFETE AN R AR AN RN RN AR RN AR RN RRRRA NET! o
200 <150 <100 <50 (1] B0 100 150 200
diff_bpm1Xum
difL
| I
10000 — —{16(
i —1ar
3000 = —12(
- 10C
= [ |
i 80(
- n
5000 &
- 401
10000 _— m m 200
|||||||||||||||||||| ||||||||||||||||||I|||

runs962 000 regression - r

oression -reg

B —700
10000 —
: —&0C
5000 —
B — 500
ﬂ_
=5000 —
B [ | [ |
11}DDU_— -
II|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
=40 =30 =20 =10 0 10 20 30 40
diff_bpomda¥ium
d'
B —80C
10000 — — 700
- —{600
000 —
i — 500
ﬂ_
=5000 —
10000 —
15000_ |IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

40 -30 20 -10 0 10 20 30 40

diff_bpmda/um
daft_

— 700
8000

6000

4000

2000

=2000

=4000

6000

=1
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

8000

plovvaberrr v bevrr v b bvna b s b
40 =30 =20 =10 1] 10 200 30 40
difi_bom4aYium

diff_bpmdaY

10000

2000

=5000 —

10000

at vs

DI~

i —{16L
10000 —
: —{14(
B —{12(
L0000 —
B —{ 100
ﬂ_
. N 80¢
B 60C
5000
B 40C
B 200
10000 |- .
EENISEINE ISRl ERENE R ERIENERE REE NI RRERE N 0
=200 =150 =100 <50 (1] 50 100 150 200
diff_bpmdaX/um
diff bpmd4eX
| I
i [ —{16L
10000 T m
B —14(
SO00 B —12[
. —{10¢
ﬂ_
. B0
- |
5000 a0l
- 400
10000 —
- - 200
1500 Do v v b b b e s b b 0
00 <160 <100 =50 (1] 50 100 160 200
difi _bpmdeXsum
diff
n — —16L
8000
[ —14¢
000 [
: —12¢
4000 - m
[ —10C
2000
ﬂ:_ a0
2000 - B0C
C [ |
~4000 - 400
6000 |-
[ 200
8000 |-
Covvalwvea bvvraberrr b bvvrn boraabvaaa by 0
200 <160 100 <50 (1] 50 100 160 200
diff_bpmdaX/um
difL
[~ —{16L
10000 —
| —{14L
| —10(
[ |
ﬂ_
| aoc
I a |iesor
5000
5 400
10000 —
111 ANTERI NN N
=200 ‘H}D 160 200

“1ostpa

diff_bpmdeY

10000 |
| —&0C
5000 —{50(
ﬂ -
=5000 _— an(
| . . 100
10000 |- -
1 11 | L1 11 I L1 11 | L1 11 | L1 11 | L1 11 | L1 11 I 111 D
30 -20  -10 0 10 20 30
diff_bopmday/um
d .
| I
10000 | 7
- —B0C
5000
I — 500
ﬂ __
L. N
5000
10000 |
.15[:“:”:' _I L1 | L1 11 I L1 11 | L1l 11 | L1 11 | L1 11 | L1l 11 I L1l D

=30 <20 =10 0 10 20 30
diff_bpmday/um

diff _ hpmélcY

i — 700
8000
i — 60
6000 |
4000 — 50
2000
B [ ]
o 1
- = n
~2000 |
~4000 |-
~6000 - 100
8000 |-
o b bvr e bvvrr berrr bvnra bvvara i o
=30 20 =10 (1] 10 20 an
difi_bpmdaYium
diff bpmdeY
| I
" —{7oc
10000
— 600
L0000
— 500

= 5000

10000

III|IIIIIIIIIlIIIIlIIII|IIII|IIII|III i}

=30 =20 10

n p n 2 dlll hﬁm4n3‘1"."urn

10000 o
500

5000
—s00

~5000

[ |
10000 |- i
I I A N A N A A A A B B A B A A A 0
=100 =50 (1] 50 100
difi_bom12X/um
diff bpm12X
| L
i [ ]
10000 — —{ 600
B — 500
Loon —
[ = =
D_
~R000 —

10000 —
15Unn_||||||||||||||||||||||||||| 0
=100 ~50 (1] 50 100

diff_bpm12X¥/um
.'
: —{ 600
8000 m
000 [ —|50(
4000
» |
N | —{400
2000 [
o
~2000
4000
~6000 |-
~BOOO [ [ | P
I T T T T I I A B B A A 0
=100 ~50 1] 50 100
difi_bom12X/um
difL
10000 —gor
—{ 500
Lo
—{400

300

~5000 - 01

100

10000
N - N

tv v v v by v v by 0
=100 -50 1] 50 100
diff_bpm12X/um




asym_atll

asym_atrl

asym_atl2

asym_atr2

rund962 000 re

diff_bpm1X

1=/ ndf 11.09/13
p0 —0.7378 £9.4798 ) )
p1 62.81= 0.61 JH Jr'
zunnf— i
oF
2000 — +
ol p lf*
6000 — J
~BO0OD — i

91

20000

15000

10000

5000

=5000

10000

-EﬂD 150 <100 50 O 50 100 150 200 250

iff_bpm1X

%2/ ndf

18.45/13
p0 -4 648 + 10.927

p1 -21.86 £ 0.70

200 <150 <100 50 O 50 100 150 200 250

dlthpmlL

x2/

ndf 1556 /13

p0 —22.81x 15.60 f
p1 220.7+£1.0 /
of i
5000 |
10000 F w
. 4

15000 |- W
20000 — R

T bvvr berrr vl bvvea v bvoa bvrra boae

200 <150 <100 50 O 50 100 150 200 250

diff_bpm1X

12 | ndf 1011 /13
p0  -39.8+19.6 ;4
p 4576 1.3
of
mnnnf—
EHDDUE—
F - 4
30000 | +
: i
40000 4
;Illllllllllllllllllll IIII|IIII|IIII|IIII|IIII

-200 =150 =100 -50

100 150 200 250

2ressmn asym &

diff_bpmdaY

%2 / ndf 80.96 / 36
p0 -5.526 + 10.385
p1 3818 £+ 1.34 J
1000
- H u
o I ++ *ﬂh} :
~1000 - _ H & |
_:mnnf—
_:mnnf— ) }
ill||||||||||||||||||||||||||||||I|||||||||I|||

°1

3000

2000

1000

=1000

=2000

=3000

=4000

-40 30 <20 <10 O 1 20 30 40

iff bpmdaY

%2 / ndf

|

61.36 /36
p0 -8.702 + 11.089

p1 -4.942 £ 1.446

m HH++++|+ N—— j “

IH”__}

|

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
+

HTTT

40 -30 20 <10 0 1 20 30 40

diff_bpmdaY

%2 / ndf 106.4 / 36 { _
p0 -36.36 £ 2013 }
p1 248.3 + 26 %quﬁ }
2w

R WW

}
TR

-40 30 20 10 0o 1 20 30 40

diff_bpmdaY

2/
p0

p1

ndf 155.4 /36 |

-67.16 £ 34.55

5000

1]

=5000

10000

15000

W

—i=

H TTT

diff_bpmdeX

¥= f ndf 8.521 /13
p0 -0.9624 £ 9.5156
i
p1 64.91£065 | ! H
2000 g
oF
~2000 |
X
N it
-4000 +HJ
~6000 | #
~8000 | -
1
-

91

20000

15000

10000

2000

=5000

10000

1
0 =150 <100 -50 O a0 100 150 200

= —

iff bpmdeX

%2/ ndf

11.57/13
p0 -3.818 + 10.937

p1 -23.99 £ 0.74

-+

L‘—_
7*
=y

=N
-~ =
—— 1

200 -150 <100 50 O 50 100 150 200

diff_bpmdeX

12/

ndf 13.73/13

p0 -23.86 £ 16.10 A
p1 2231+ 141 +
of _
~5000 E—
10000 ;— +++:
15000 ;— \H{
20000 f— 1

v b bvrre brvrr b b bearn brvaa b

200 -150 <100 50 O 50 100 150 200

diff_bpmdeX

Efndf 1016 /13
p0 —42.2 + 20.6 ;{} l
p1 469.1+1.4 | /
of
mnnnf—
EﬂDDDf— ;:
- T
30000 +F*
ﬂmnnnf—
;llllllllll I|IIIIIIIII|IIII|IIII|IIII|II
~200 -150 - 100 150

DI~

t postpan

diff_bpmdeY

%2/ ndf 34.29 / 36

p0 -2.842 + 10.291

p1 60.29+ 1.63 {
E'DUU_—

: w
't Mﬁ B

2000 :' }- }1
_mnn_llll||||I||||||||||||||||||||||||I|||

3000

2000

1000

= 1000

= 2000

=3000

=4000

= 5000

diff_bpmdeY

TT T T[T I T T[T T I T[T T T T[T I T T [TT T T [TT T T [TTTT[T1

1

,——

; * ——

———
=
—l:_'.:T__

l-ﬂ
o+ =i

—t

=30 =20 =10 0 10 20 30

%2 / ndf 33.36 / 36

p0 -8.189 + 11.054

-3.218 £ 1.764

=30 <20 =10 0 10 20 30

%2 / ndf 36.63/ 36
p0 -27.72 £19.25 | } -
p1 365.8 + 3.1 m
of
-5000 |- ]
C }WH*H
10000 | _ }
15000 *
:||||||||| il by by bvraa b

diff_bpmdeY

=30 <20 =10 0 10 20 30

2 | ndf 47.91/ 36
p0 ~50.12 + 32.97 }
p1 615.9 + 5.3 Wﬁ _
9 +5, i
of-
1{?000_— +++
! i
L -y f
20000 }- |
_IlllIIIIIIIIIlIIIIlIIII|IIII|IIII|III

-30 =20 10 0 10 20 30

PNY

diff _

BODD |- —

- ¥e | ndf 35.11 /40
4000 ﬂ

i 'H'H'I-l p0 5.905 £+ 9.561
2000 | } it

B p1 —-35.85+0.3/7

of _

-2000 [

i 'ﬁﬁ_# ‘|

: 4
~4000 f
~6000 [ ﬁ
~8000 [ h
1"}':“:":' :—l 11 | L1 11 | | I | | | I | | | I | | 11 1

100 -50 0 50 100

diff_bpm12X

¥=/n
p0
p1

df 40.24 / 40
-3.84 +11.02

2.191+0.426

1000

o

=1000

= 2000

=3000

—_—
1

Hﬁﬂﬁwﬂw}k |

"-"1

=100 -50

iff bpml12X

o

50 100

[ - $?indf  58.55/40
20000 — #F
i ++# p0 -2.656 + 8.352
i "
10000 |- - p1 ~175.6 + 0.3
ol
10000 |- .
I &
20000 H‘rﬂ‘{][
EEEE NN NN NS N N
=100 =5 1] 50 100

!! .
0oo

iff bpml12X

- ‘#, ¥2 | ndf 42.09/ 40
30000 - +ﬂ1++

. o p0 -6.784 + 12.475
20000 — n,

- p1 -305+ 0.5
10000 —

of-

10000 E—
20000 f— e

- A
30000 H {
40000 f— ‘“lh

N 1 1 1 | L1 11 | | I | | | I | | | I | | 11 1

=100 =50 ] 50 100




=

diff_bpm1X  diff_bpmdaY = diff_bpmdeX = diff_bpmdeY diff_bpm12X

%2 / ndf 11.74 /13 %2 / ndf 59.21 /36 ¥/ ndi 9.846/ 13 ¥e | ndf 28.59 /36 000 & ¥% ! ndf 3486 / 40
p0 1.534 + 9410 p0 0.3192 + 9.4430 p0 1.728 + 9.426 p0 1.423+9.410 3000 — p0 4918 + 9.397
p1 0.2371+ 0.6073 _ p1 1.222 +1.221 ’ } p1 0.07321 + 0.64153 p1 1.817 £ 1.486 4 Eﬂ'ﬂﬂ;— pl  -0.01959 + 0.36280
- n 1 1000 | 1000 ] - {
2000 o _ W H1 H+WHHW - ]l[\ ! | | | * 1000 | | }
- - b . | D__ - T+
reg_asym_atll oo J | 5 o e d £ | § it |
- ] ~1000 - _ - 1
— — B | _ B B ] = 1000 [
of h*h?“_""ﬁ A _ 1000 F o ”H _ : |
: ﬁ { [ - ) [ : ~2000 F +
- [ + [ B N _
1000 - - -0 T 5000 - 3 -2000 [~ 2000 -
_2000 I - : -
- I - ~3000 |- ~4000 |- ’
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ‘S'DDD'|_|I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III —S'DDD'I_'III|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIIIII ‘II|IIIIIIIIIlIIIIlIIII|IIII|IIII|III ‘IIIlIIIIlIIII|IIII|IIII|III
~200 -150 =100 -50 © 50 100 150 200 250 40 -30 -20 -10 0 10 20 30 40 _200 -150 =100 -50 © 50 100 150 200 30 -20 -10 O 10 20 30 - 100 50 0 50 100
E.lrl'ldf 1?51.-‘13 Efndf EUBE.-‘EE EJ‘l‘lt:II‘ 11[}?.-’13 Elllndf 291.-’35 Efndf 4368.-‘40
p0 -1.757 £ 10.799 p0 —-8.128 + 10.848 p0 -1.23 £10.82 p0 ~-7.332 £ 10.816 pO —2.468 + 10.781
p1 0.1937 + 0.8949 p1 0.8248 + 1.4147 p1 0.2399 + 0.7339 p1 0.9197 + 1.7221 p1 0.2368 + 0.4165 i
- B [ WA C TEI - ]
sooo F ob IWM{}M:}MA - oE m{['# S B ”[}“W 1000 | ‘
N N t - " ' C
reg_asym_atrl of %m«m | ol " S | S {1 T— W
T - { = or e 2000 || - H+ }
2000 |- . |- _ 3000 :— i H w - ~1000 :— } “
- - - - 2000 - ~3000 "
000 _ i 3000 o E } i} : - 2000 =
- n o - 4000 [ :
“BOO0 - _ n 000 i | N = 3000 [ _
_|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _.‘H}DD‘I‘_IllIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIII +|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIIIII _,E-DDD:I-IllIIIIIIIIIlIIIIlIIII|IIII|IIII|III _III|IIII|IIII|IIII|IIII|III
200 -150 -100 =50 © 50 100 150 200 250 40 -30 -20 -10 0 10 20 30 40 _200 -150 =100 -50 © 50 100 150 200 30 -20 -10 O 10 20 a0 100 50 0 50 100
dlthmeX diff bpmd4aY = diff bpmdeX  diff_bpmdeY diff bpm12X
:— %</ ndf 2091713 ¥ ndf 38.92/ 36 E f ndf 20,91 /13 E ! ndf 21.527 36 E ! ndf 51.44 740
3000 p0 2.022 £ 7.540 p0 -3.772 + 7.585 p0 1.894 + 7.555 p0 -2.429 + 7.560 A T p0 —2.462 + 7.530
2000 - pi -0.0741+ 0.4857 p1 0.07909 + 0.98288 j _ pl 02345 £05136 pl  0.1318 £1.1968 | H pl 01323 £0.2907
_ | | - . W]
L | |
F : H {H I of “ ﬂ}} ft woo - |l |
3 T Bt mn +
reg_asym_atl2 £ - | SR : | A 1 S—
g y [ h !} -l | oF ++H _ S1000 | _ i J& ; HH {
1000 ~1o00 - : [ B } |
[ - 1000 - | ~1000
- i - - - 2000 [~ -
-2000 ~2000 : i i
n - , - ~2000 - - o E
_mnn'r_l||||||||||||||||||||||||||||||||||||||||||||| NN T I ITATI AT AT I ANETA T ;||||||||||||||||||||||||||||||||||||||||||| _mnn;lﬂ||||||||||||||||||||||||||||||||| :|||||||||||||||||||||||||||
_200 -150 -100 50 © 50 100 150 200 250 40 -30 -20 -10 0 10 20 30 40 _200 -150 =100 -50 © 50 100 150 200 30 -20 -10 O 10 20 a0 100 50 0 50 100
diff bpmlX  diff bpmd4aY  diff _bpmdeX diff bpmdeY dlthmeZL
%2/ nd 10.93/13 %2/ ndf 22.4 /36 3000 F- %2 / ndf 14.33 /13 %2 / ndf 35.89 / 36 %2 / ndf 28.92/ 40
p0 ~B.916 + 9.873 po 1408 + 9.94 2000 f_ p0 —B8.306 £ 9.894 p0 -106 £ 9.9 po -12.41 £ 9.86
p1 0.07122 + 0.63751 i p1 0.1788 + 1.2885 ) mnnf— p1 -0.1978 £ 0.6744 p1 0.1821+ 1.5673 p1 0.1678 = 0.3802
- - ! - 1000 | -
n:— WM# 1000 |- | { } | o - ]L|| ”‘er" *M{ M _ 1000 - 1
L = - L .|. - - 1
o - N - - 3 ’ WHJ 3 + {
l'eg asym atl‘z R o }H{HJ*MWHW i ~1000 |- °F } f'**"““*’“"‘" e ]‘ + of MMM
i I i : - : {
- ~1000 B C -
-3000 - ~3000 |- ~2000 [~ 2000 F
—4000 f— } ) 2000 :_ ~ 4000 f— -3000 :_ — 3000 E—
I|IIII|IIII|IIII|IIIIIIII|IIII|IIII|IIII|IIII I n :IlllIIIIIIIIIlIIIIlIIII|IIII|IIII|III _III|IIII|IIII|IIII|IIII|III

run5962 000 resression ree at’ vs' diff “bpm-fit postpan.pns " e



asym_atll

asym_atrl

asym_atl2

asym_atr2

rund962 000 r

10000 =

5000 -

5000 [~

10000

200 150 <100 50 O 50 100 150 200

diff_bpmXum
diff _

20000
15000
10000

5000

=5000

10000

15000 _I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

-200 =150 =100 -50 O 50 100 150 200
difi _bpm1Xum

di

20000

:
?

10000

10000 [~

20000

200 150 <100 50 O 50 100 150 200

diff_bpm1Xum
diff _

40000
30000
20000
10000
1]
10000
20000

30000

40000

C b v v v vr e Bevra By aa e
50000 200 150 <100 -50 50 100 150 200

10000 =

5000 —

5000 —

10000 =

-40 30 -20 -10 0 10 20 30 40

diff_bpmda¥ium
diff

20000
15000
10000

5000

5000

10000

15000

40 -30 20 -10 0 10 20 30 40
diff_bpmda/um

20000

10000

10000 [~

20000

40 -30 -20 -10 0 10 20 30 40
diff_bpmda¥ium

40000

30000

20000

10000

1]

10000

20000

30000

40000

BOO00 II|IIIIIIIIIlIIII|IIII|IIII|IIII|

egression-asym at vs ¢

10000 =

5000 -

5000

10000 =

200 -150 -100 -50 0 a0 100 150 200

diff _bpmdeX/um
diff

20000
15000
10000

5000

=5000

10000

15000 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

200 -150 -100 -50 0 50 100 150 200

diff_bpmdaX/um
diff_

20000

10000

=
I

10000 [~

20000

-200 -180 -100 -50 © 50 100 150 200
diff_bpmdeX/um

'[jlll
40000
30000
20000
10000

0
10000

20000

30000

40000

|||||||||||||||||||||||||||||||||||||||||
SO0 -150 -100 -50 o 100 150 200

~ bpm-scat -

10000 =

5000 -

5000 —

10000 =

30 20 -10 O 10 20 30
diff_bom4eY/um

20000

15000

10000

5000

= 5000

10000

15000

=30 <20 =10 0 10 20 30
diff_bpmday/um

20000

10000

10000 [—

so000 |- R

30 -20 -10 O 10 20 30
diff_bpmdaY/um

40000

30000

20000

10000

1]

10000

20000

30000

40000

vl by laaag |||||||| e b
0000 =30 =20 =10 10 20 30

tp an.pn 2 s

5000 —

5000 —

10000 =

tv v v v by v v by
=100 -50 0 30 100

diff_bpm12X/um
diff

20000

15000

10000

5000

=5000

10000

15UnnIII|IIII|IIII|IIII|IIII|III

=100 -50 1] 50 100
diff_bpm1 2X/um

20000

10000

=
I

10000 [—

20000

I T I T T N T N I O OO O B A
=100 ~50 1] 50 100
difi_bom12X/um

1[jlll-
40000
30000
20000
10000

1]
10000

20000

30000

40000

tv v v v by v v by
0000 =100 -50 1] 50 100

diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

it

10000

5000

5000 —

10000 —

b b b b b b b b b
=200 <150 <100 <50 O 30 100 150 200

diff_bpmXum

10000 —

5000 —

5000 —

10000 —

_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
15000-2{}0 -160 =100 -50 O 50 100 150 200
difi _bpm1Xum

8000 |
6000
4000
2000

1]
=2000

=4000

-6000

=B000 .

Cobvvnn bevnn brvs bvvra bvva b bevna o aa beng

=200 =150 <100 =50 O 50 100 180 200
diff_bpm1Xum

10000 [~ e

5000 —

5000 —

10000 —

rund962 000 resression reg

10000

5000 —

=5000 —

10000

II|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|II
40 -30 -20 -10 0 10 20 30 40
diff_bpmda¥ium

10000 —

2000 —

=5000 —

10000

b by b b by by bvana b i
15000 40 =30 20 10 O 10 20 30 40
diff_bpmda¥ium

8000
6000
4000

2000

=2000
=4000

6000

8000

=1
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

plovvaberrr v bevrr v b bvna b s b
40 =30 =20 =10 1] 10 200 30 40
difi_bom4aYium

10000 T

5000 —

=5000 —

10000 —

at' vs diff-‘bpm-scat postpan.png

it

10000

5000

5000 —

10000

-200 -150 -100 -50 © 50 100 150 200
diff _bpmdeX/um

iff_bpmdeX

2000 —

5000 —

10000

1500 o b b b by by b s b aa s
=200 <150 -100 -50 0 50 100 150 200
diff_bpmdeaXium

8000
6000
4000
2000
1]

= 2000
~4000

~6000

8000

-200 -180 -100 -50 © 50 100 150 200
diff_bpmdeX/um

10000 Ry

2000 —

5000 —

10000 —

10000

5000

5000 —

10000

30 20 -10 O 10 20 30
diff_bom4eY/um

10000 —

5000 —

5000 —

10000

coa v b by e by by g laag
13000 30 =20 10 0 10 20 30
diff_bpmdea¥ium

8000

6000

4000

2000

= 2000

=4000

= 6000

= 8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30 -20 -10 O 10 20 30
diff_bpmdaY/um

10000 —

5000 —

5000 —

10000 —

-30 =20 =10 0 10 20 30
diff_bpmdaey/um

10000 —

5000 —

5000 —

10000 —

100 50 0 50 100
diff_bpm12X/um

10000 —

2000 —

5000 —

10000 —

AN N A T T T N A N I B B O
15000 =100 =50 0 50 100

diff_bpm1 2X/um

8000
6000
4000

2000

= 2000
=4000

~6000

~8000

=1
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

100 50 0 50 100
diff_bpm12X/um

10000

2000 —

5000 —

10000 —

- 100 -o0 1] 50 100
diff_bpm12X/um



